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The free market has long been held to provide the most efficient
rmethod of maximising societal welfare in so far as it causes
demand prices as revealed through marginal utility curves to be
equated with supply prices,as revealed through marginal cost
curves and thus brings about the optimai allocation of resources.

Naturally it therefore follows that if there is any distortion
of this process,then the market will fail and "the link between
optimality and competition is broken"! .There are a myriad of
examples of market failure and whilst there is often
disagreement on the specifics of particular cases it is generally
recognised that the root cause of such failures is the presence of
goods that display substantial degrees of “publicness” or
“collectiveness” :

Of such goods,the provision of some involves prohibitive
transaction costs and while some are non rival in consumption all
are non exclusive.An important category of these problematic
goods/'bads’ is that of externalities.

"an externality is said to exist if an activity of one party affects
the utility or production possibilities of another party without
being priced”2 and the manner in which this creates a non pareto
efficient outcome can be demonstrated through a simple example.
Figure 1. P

i

x-: Xt:&h
imagine we have 2 consumers,a and b:A consumes goods x and y
while b conisumes only y but A's consumption of x confers benefit
on him.the'utility functions are as follows

Ug=f(xa+yd)

Up=f(yb+x2)

Now since A consumes and pays for x his demand curve for x
determines the market supply .But the benefit enjoyed by b is not
registered by the market :thus the true quantity demanded by a

and b,i.e. x3*D ig not produced causing a welfare loss represented
by the shaded trianrgle.
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Similarly,a welfare loss would result |f a's consumption of X,
caused b to suffer a CﬂSUtUIIty whlch wasn 't prlced

Flgure2 -~ o
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In the above example a chooses to consume xa by equating his.
marginal valuation with the margmal cost,as represented by the

price line.Of course thls decision takes no account of the costs
imposed on b causmg over production of x and a welfare 10ss

again indicated by the shaded area corresponding to the.

differerence between welfare levels at the actual consumption
point and the socially optlmal eonsumptlon point. .

Therefore while there are many different types of externalities-
positive or negative, orlgmatlng in productlon or consumption
etc.-they are all resposible for the market failing to achieve the

social optimum by causing a dtvergence between private and” .
social costs.thus to achleve the soc1al optlmum some correctlve )

measure must be found. -~ - :

Such a solution is lmmedlately suggested by figure 2, namely the -
enactment of a mutual agreement between the parties to reduce

A's consumption of X from x2 to x a+b Arter all,with such a move

b would stand to gain an 1ncrease in_utility represented by the.
area STUV while A would lose only 'SUV,leaving a net gain of

STU,the exact dlstrlbutlon of which would depend on the

bargaining power of the partles in this situation’it would be in
both their interests to engage in'a form of commerC\al jogrolling |

whereby b would bribé a to reduce his consumption to the socially

optimum position by offering him part of the surplus utilty STU_,'

and eliminating the externality. However this solution- ignores
distributional issues which could form an 1mportant part of the
social welfare function and the gam in efficiency could be offset
by a worsening of the: dlstrlbutlon of income e.g. if a was a
landlord and b a peasant As is usual the economist qua economist
ignores such con51derat10ns

This does not mean that thls solutlon is economaHy sound-in fact
its practical feasibility is’rather Timited. Firstly,for such an
agreement to be possible we rriust assume that-thansaction costs
are low(relative to STU);however the existence of hign
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transaction costs is often one of the causes of market faflure in
the first place.Also,such a bargalnmg process.can be undermined
by strategic’ behaviour and untrue preference revelation, with for
exampie a overstatlng his margtnal valuation of x and b
overstating the disutility he sustains,each’ trytng to maximise
their gains.Thus the chances of a move to a non pareto efficient
position or no move at all are high.

What we are discussing Is essentially the solution offered by
R.Coase who argued thar externalities' were best dealt with by a
market in which externalities could be traded through the
imposition of property rights with the affected party paying a
bribe or receiving compensation depending on wherein the
property rights were vested(which some may see as an arbitrary
or unjust criterion),and whether a cost or a benefit is being
generated.What Coase is suggesting is not so much that we. need
to revise our theory of externalities but rather that some
phenomena that ‘are normally seen as externahties really are
not.But this’is evading the definition of an externahty because if
the good or "bad” can be traded in a market, then it IS not an

externality,by definition.The puzzie then i why a market such as

one Coase suggested does not exist,and if the government must
intervene to provide it, then his argument loses a lot’ of-its
laissez-faire force.His approach is basically a one sided
approach to a two sided problem,meaning that "the payment of
compensation only involves the payer taking into account the
costs he imposes on others,failing to make the receiver take
account of the costs he imposes on the payer”3 thus mutual costs
and benefits are still not equalised and an externality persists.

So it would seem, that Jbargaining solutions are of dubious vaiue in
attempting to overcome the problem of externalities and that
some form of coercive measures mlght be needed.Such measures
of course could only be enacted by the’ government and an example
would be the physical Internallsatlon of an. externallty as first

occurred in the case of the Tennessee Valley water authority.But

while such policies can be of considerable success when applied
to productlve efiterprises they would be wholly. useless if they
were tried on a mult1phc1ty of households,

Another possible approach the government could adopt,which is.in
fact a derivative from Coase’s suggestlon would be for it to

assume. the property rlghts to’ a certain. resource and thén sell . .

quotas to firms. the difficulty is that this ‘would favour large
firms who. mlght concentrate ‘their productlon or use of the
resource in’a particular area thereby conferring costs or.benefits
on the inhabitants of that drea dlsproportlonateiy relatlve to the
rest of the populatlon who through the state,are supposed to be
owners of the resource.
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Yet another alternative would be for the government to set the

socially optimal output at a certain Jevel(assuming this could be

calculated given. the. usual problems of untrue preference

revelation etc.) and. tnen restrict all firm's output below this
level.This approach to is rraught ‘with difficulties.There would be
a pel‘SlStel’lt tendency to “free-ride”,indeed this is why there is a
problem’ 'in the first’ place thus ~there are very serious
enforcement difficuities.The state may not pick the right limit on
output and thus needlessly drive up its price,or drive firms out of
the business; leaving  us in a worse posttlon than when we
started- tyre’ factorles may Cause’ pollutlon but we need some
tyres. '

All in *all*then qovernment 1ntervent10h ,apart from the

infringement of property" rlghts is seen to be problematlc The

tradltlonal -solution’to the externallty problem whlch seems to
overcome these dlfflcultles is the so- called Plgovtan ta><
‘ Flgure 3 o ; b
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P x> X
in figure 3,as in figure 2 initial equilibrium’is at point S with a's

consumption of x causing b a disutility.But if the state were to ; ,

impose a Pigovian tax on a's consumption of 'x equal‘in value- to
the marginal damage sustained by b then a"s demand curve should
shift back to @ with equilibrium belng re-established at point U
causing the socially optimum quantity x2*D to be demanded,and
the apparent disappearance of the _externality.But in fact
equilibrium would not settle at U but’ rather at Z because there
would now be an incentive to bargain Wlth a loosipg UZW but with

b gaining VUW:" thus representlng a net gain to the two of. .

VUZ.Buchanan and Stubblebune in ‘realising that, the, posmnq of a
unilateral tax would not achieve the social optlmum suggested
that the affected party,here being b,should also be liable for a tax
equal in value to the reduction of a's consumption thus shifting
his demand curve back to b’ which intersects a' at U,the socially
optimal level.

Certainly the imposition of such a bi-lateral tax would not be
without difficulties,not least of which would occur in the setting
of rates which would require true preference revelation while
what is known as the conscience effect also has to be taken into
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consideration,but nonetheless it would seem to be a more.viable
and realistic measure than those already discussed. .,

In conclusion therefore,we have looked at the nature of
externalities and various market and policy based responses. to
them.Not surprisingly since externalities are a market failure,the
market oriented responses did not fare too well. Policy responses
at least had some chance of mitigating the externality and given
the rarginalism on which traditional welfare. economics is
based,were found to be_somethmg of a blunt instrument.A.tax of
some sort was suggeSted as "the best of a bad lot".Another
problem would seem to be the lack of an adequate. theory of
externalities .This can' be traced to the inconsistency of

discussing the problem of one:agent's actions. affecting others in.

a framework that assumes that no-one's actions affect anyone

else.The essence’of an externality in interdependence,which is.
assumed away in perfecL competition Theories of.oligopoly which.

explicitly allow for the interdependence of actions would seem to
be more relevant for our purposes,and this in turn implies that
game theory also has an impertant role to play.However work in
this area is very limited and we are left with the depressing
conclusion after 50 years of effort that

"it is likely that different external effects will be 'solved by

differerent methods,including that of doing nothing."4
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